
Division L2 Mark Scheme  

1 0 6 4 3
8 | 5513424

[1] Process to use bus stop method

643 [1]

2 0 3 3 7
6 | 2202242

[1] Process to use bus stop method

337 [1]

3 0 0 9 7
1 6 | 115155112

[1] Process to use bus stop method

97 [1]

4 0 0 4 5
5 5 | 224247275

[1] Process to use bus stop method

45 [1]

5 0 3 4 6
2 1 | 77296126

[1] Process to use bus stop method

346 [1]

6 0 3 6 8
1 9 | 669129152

[1] Process to use bus stop method

368 [1]

7 0 1 2 0
3 1 | 33762 0

[1] Process to use bus stop method

120 [1]



8(a) 0 1 7
1 7 | 228 119

[1]

17 [1]

8(b) 0 1 8 r1
1 6 | 228129

[1]

1 [1]

8(c) 0 1 9 r4
1 5 | 228139

[1]

4 [1]

9 0 2 3
6 | 11318

[1] Process to use bus stop method

23 packs [1]

10 0 2 5 r 2
8 | 22042

[1] Process to use bus stop method

25 boxes [1]

11 175 ÷ 8 = 21.875 [1]

22 tins [1]

12 234 ÷ 12 = 19.5 [1]

20 packs [1]

13 547 ÷ 52 = 10.5 [1]

11 coaches [1]


